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Answers may be written either in English or in Malayalam.
Part A (Short Answer Questions)

Answer all the following questions in one sentence each.
Each question carries 1 mark.

Explicit cost.

Fixed cost.

Saucer shaped curves.
Marginal cost.
Envelope curve.
Monopoly.

Kinked Demand.
Selling cost.

Duopoly.

Box diagram.
(10 x1=10)

Part B

Answer any eight of the following.
Each question carries 2 marks.

Distinguish between Average cost and Marginal cost.
Fixed cost and Variable cost.

What is economic cost ?

Explain discriminating monopoly.

What is Duopoly ?

Explain normal profit.
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What is dumping ?

Explain functional distribution.
Distinguish between firm and Industry.
Asymmetric Information.

Product differentiation.

Write about cartels.
(8x2=16)

Part C (Short Essays)

Answer any six of the following.
Each question carries 4 marks.

What are the characteristics of perfect competition ?

Explain the degrees and types of price discrimination.

What are the features of oligopoly ?

Explain price and output is determined under monopoly.
Explain price leadership models of Oligopoly.

What is Amartyaseri‘s concept of social welfare ?

Explain Keynesian Theory of Interest.

How price and output is determined under perfect competition ?

Explain Bentham's criterion of social welfare.
(6 x4=24)

Part D

Answer any two of the following.
Each question carries 15 marks.

Explain the Kinked demand mocel of Oligopoly.

What are the features of monopolistic competition and how equilibrium price and output determined
under long run ?

Critically examine the marginal productivity theory of distribution.

Explain Kaldor-Hicks compensation criterion.
(2: %515 = 30)



